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TABLA ABREVIADA DE VIDA DE LA POBLACION TOTAL, POR SEXO: QUINQUENIO 1965-70

Edad

(x) nmx nqx Ix ndx an (x+5)Px Tx eox
AMBOS SEXOS
0 1 0.05379 0.05160 100,000 5,160 95,975 0.93508 (a) 6,427,022 64.27
1 4 0.00829 0.03250 94,840 3,082 371,564 0.97605 (b) 6,331,046 66.75
5 5 0.00215 0.01068 91,758 980 456,342 0.99173 5,959,484 64.94
10 5 0.00117 0.00583 90,778 529 452,569 0.99288 5,503,142 60.62
15 5 0.00169 0.00841 90,249 759 449,350 0.99055 5,050,573 55.96
20 5 0.00211 0.01050 89,491 939 445,107 0.98839 4,601,223 51.41
25 5 0.00257 0.01274 88,552 1,127 439,942 0.98584 4,156,116 46.93
30 5 0.00314 0.01559 87,425 1,363 433,716 0.98329 3,716,174 42.50
& 5 0.00360 0.01784 86,062 1,536 426,469 0.97995 3,282,458 38.13
40 5 0.00451 0.02229 84,526 1,884 417,919 0.97355 2,855,990 33.78
45 5 0.00624 0.03069 82,642 2,535 406,872 0.96335 2,438,070 29.49
50 5 0.00875 0.04279 80,107 3,425 391,973 0.94819 2,031,198 25.35
55 5 0.01264 0.06124 76,682 4,688 371,691 0.92274 1,639,226 21.37
60 5 0.01981 0.09434 71,994 6,778 343,024 0.87858 1,267,535 17.59
65 5 0.03282 0.15139 65,216 9,829 301,507 0.81454 924,511 14.16
70 5 0.05084 0.22546 55,387 12,457 245,793 0.74223 623,004 11.23
75 5 0.07046 0.29948 42,930 12,830 182,575 0.51523 (c) 377,211 8.77
80 w 0.15507 1.00000 30,100 30,100 194,636 194,636 6.45
HOMBRES
0 1 0.05920 0.05659 100,000 5,659 95,586 0.93015 (a) 6,307,998 63.08
1 4 0.00842 0.03299 94,341 3,112 369,491 0.97533 (b) 6,212,412 65.85
5 5 0.00224 0.01115 91,229 1,017 453,603 0.99114 5,842,922 64.05
10 5 0.00131 0.00654 90,212 590 449,585 0.99214 5,389,319 59.74
15 5 0.00185 0.00919 89,622 824 446,050 0.98952 4,939,734 55.12
20 5 0.00237 0.01178 88,798 1,046 441,375 0.98722 4,493,684 50.61
25 5 0.00278 0.01379 87,752 1,210 435,735 0.98540 4,052,309 46.18
30 5 0.00311 0.01541 86,542 1,334 429,375 0.98364 3,616,574 41.79
& 5 0.00349 0.01731 85,208 1,475 422,353 0.97983 3,187,199 37.40
40 5 0.00467 0.02309 83,733 1,933 413,833 0.97250 2,764,847 33.02
45 5 0.00651 0.03202 81,800 2,619 402,453 0.96105 2,351,014 28.74
50 5 0.00944 0.04611 79,181 3,651 386,778 0.94322 1,948,562 24.61
55 5 0.01407 0.06797 75,530 5,134 364,815 0.91539 1,561,784 20.68
60 5 0.02160 0.10246 70,396 7,213 333,948 0.86460 1,196,969 17.00
65 5 0.03766 0.17210 63,183 10,874 288,730 0.79945 863,022 13.66
70 5 0.05324 0.23491 52,309 12,288 230,825 0.73337 574,292 10.98
75 5 0.07284 0.30809 40,021 12,330 169,280 0.50714 (c) 343,467 8.58
80 w 0.15897 1.00000 27,691 27,691 174,187 174,187 6.29
MUJERES
0 1 0.04810 0.04636 100,000 4,636 96,384 0.94025 (a) 6,551,999 65.52
1 4 0.00816 0.03198 95,364 3,050 373,740 0.97680 (b) 6,455,615 67.69
5 5 0.00205 0.01019 92,314 941 459,218 0.99235 6,081,876 65.88
10 5 0.00102 0.00509 91,373 465 455,703 0.99366 5,622,658 61.54
15 5 0.00152 0.00759 90,908 690 452,815 0.99163 5,166,956 56.84
20 5 0.00184 0.00916 90,218 826 449,025 0.98961 4,714,141 52.25
25 5 0.00234 0.01163 89,392 1,040 444,360 0.98631 4,265,116 47.71
30 5 0.00318 0.01578 88,352 1,394 438,275 0.98292 3,820,756 43.24
& 5 0.00371 0.01840 86,958 1,600 430,790 0.98008 3,382,481 38.90
40 5 0.00434 0.02146 85,358 1,832 422,210 0.97466 2,951,691 34.58
45 5 0.00595 0.02930 83,526 2,447 411,513 0.96577 2,529,481 30.28
50 5 0.00802 0.03931 81,079 3,187 397,428 0.95341 2,117,968 26.12
55 5 0.01114 0.05418 77,892 4,220 378,910 0.93045 1,720,541 22.09
60 5 0.01793 0.08581 73,672 6,322 352,555 0.89326 1,341,631 18.21
65 5 0.02773 0.12964 67,350 8,731 314,923 0.83039 989,076 14.69
70 5 0.04831 0.21553 58,619 12,634 261,510 0.75154 674,153 11.50
75 5 0.06796 0.29044 45,985 13,356 196,535 0.52372 (c) 412,643 8.97
80 w 0.15098 1.00000 32,629 32,629 216,108 216,108 6.62
fo = 0.2200 fo = 0.2200 . fo = 0.2200
Ambos Sexos: Hombres: Mujeres:
4Ky = 1.4701 4Ky = 1.4701 4Ky = 1.4702

(@) sPp=[1lo + 4La ]/ [5*1q]

fo=[Lo-1]/do

aky = [4la - 4% 1s] [ 40y
(b) 4Po = sLs / [1Lo + 4L4]

(€) wP75 = wleo /5775



